THREBBLAIRESE

[ £k 26 £ 118 30 A I/ )

1TEX 17T X 4 B % it o ATBIX 1TE X 4 B % it o [ fTEIX 1TE X 4 B % il 4y
1/ER 75 89 164 54 201 |'& 7 R Hh 389 416 805 310 316 |FHABEEN 638 676 1,314 361
( 0|« 1) ( 1) —TH) HIC 2 3 OSTH) 2 2 4
2T | 403 395 798 328 202 &7 R HED 656 702 1,358 585 N7HABEL 366 355 721 223
C 2|« 7« 9) (ZTH) HD1C 0| ( 1) (ETH) 0/C 0]C 0
3|l 79 82 161 55 203 | %7 FALER 552 558 1,110 444 318 |FHAEFEIN 0 0 0 0
(0| 0|C 0 (Z=TH) 3 4 ( 7 U\TH) 0/C 0]C 0
40T 373 446 819 354 204 %7 FALER 487 504 991 414 321 | HE— 243 242 485 139
(0| 0|C o0 (MTH) 0/ 2 2 (—T H1~4%FHn) 2) ( HniC 3
5— /B4 63 56 119 31 211 |J& hkk 413 418 831 333 322 R HE— 237 259 496 146
(0| 0|C 0 —TH) 0) | ( 1) | ( 1) (=T HAH) 2 2 4
6 — /B4 86 85 171 50 212 |J& h itk 225 254 479 187 323 | HE— 677 684 1,361 401
( 0) | ( 1) | ( 1) (ZTH) 0) | ( 0) | ( 0) (=T HaH) 2) | ( 3)  ( 5)
7= /M4 163 178 341 130 213 | /& hk 286 263 549 199 324 \FHEE 414 417 831 302
(0| 0|C o0 (Z=TH) HD1C 0| ( 1) (1T H1~17%H) 0) | ( 1) | ( 1)
8|EFH 152 154 306 104 214 |J& h ik 383 389 772 317 325 | RHEE 664 698 1,362 415
(o i 1 (T H) O/ DIC 1 (BT BHA) 0/ 0/ C 0
9 7 H 54 45 99 30 221 |HITDOY—TH 5717 608 1,185 431 326 | FKHE— 340 390 730 215
( 0|« 1) ( 1) 0 | ( 2) | ( 2) ST H1~17%H) 0/ 2 2
10 |5t 61 56 117 36 222 | HITOY"TH 687 680 1,367 509 327 | HFE = 882 915 1,797 521
( 0) | ( 0)  ( 0) 1) | ( 2) | ( 3) (£T H4H) 0) | ( 0  ( 0)
11| K#E 43 44 87 24 223 |HITDOE=TH 831 818 1,649 615 328 | HFE = 228 237 465 160
(o]l C 0o/C 0 N1 C 0 ( 1) O\NT B £38) N1 C 0 ( 1)
12|14 % 96 83 179 51 231 |HEE—TH 611 632 1,243 456 329 |FKHE = 6 4 10 6
(0|« 1) ( 1) 0 | ( 1) | ( 1) (T B £38) 0/C 0]C 0
13| K& 43 49 92 23 232 HEHTH 814 862 1,676 604 331 | HE — 7 33 40 38
( 0) | ( 0  ( 0) 0)  ( 2) | ( 2) (— 7T H5~8%Hh) 0) | ( 0  ( 0)
14| 614 81 81 162 45 233 HEHR=TH 359 3717 736 269 334 | FHFE = 484 475 959 349
( 0) | ( 0)  ( 0) 0)  ( 1) | ( 1) (97T H18~28%Hh) 2) ( 7| ( 9)
15|HA 92 75 167 50 241 KEThFE— T H 450 468 918 282 336 |FHEE — 465 476 941 274
(0| 0olC o0 0/ 2/ 2 (ST H18~35%i) 2 2 4
16 |V Rk FH 106 118 224 63 242 |H:ThkE T B 546 560 1,106 325 401 | EBR—TH 837 885 1,722 527
( 0|« 1) ( 1) 4) | ( 3 | ( 7 4) (3|« 7)
20 |iE KA 284 275 559 192 301 | MG ASH— 445 483 928 369 402 | EROKR T H 0 0 0 0
(0| 0|C 0 —TH) HD1C 0| ( 1) 0/ 0 o0
101 | K15 342 360 702 269 302 MG AH— 418 466 884 359 411 | KyEKk—TH 738 743 1,481 427
—TH) ( 1) ( niC 2 (ZTH) HIC 3 4 6) | ( 3) | ( 9)
102 | K15 278 282 560 212 303 | mbe =T H 549 589 1,138 446 412 | KyEKZTH 381 394 775 234
(ZTH) (0|« 1) ( 1) 0 | ( 1) | ( 1) NIC 0 (¢ 1)
111 O0EvE—TH 846 853 1,699 660 304 | G HE T =— 1Y 165 191 356 161
( 2) ( 3)  ( 5) 0)  ( 2) | ( 2)
112 OXWETH 477 461 938 388 311 BHABEE— 575 615 1,190 413
(0| 0|C 0 (—TH) 0/ 0 0
121 |7 V—r v 253 243 496 161 312 HAEE 466 504 970 317
( 0) | ( 0)  ( 0) (ZTH) 0) | ( 3) | ( 3)
140|EHDAK 227 218 445 166 13HABEE= 645 665 1,310 411
—TH) ( 1) ( N C 2 (Z=TH) HIC 2 3
141 |EHDAK 47 57 104 42 314|FHABEHE = 199 208 407 140
(—TH) ( 0) | ( 0  ( 0) (T H) 4) | ( 0) | ( 4)
142 | EHDAK 327 349 676 259 315/HABEER 1,070 1,042 2,112 685
(ZTH) ( 2) | ( 6) | ( 8) (WWTH,HETH) 0) | ( 1) | ( 1)
( YWNIISE AETHYAE, (H24. 759) [ A ] B 25456 A % 26289 A i 51,745 A 18,096 fHE
KIZU—rbe id, OJVE—T BATBIXIZE D08, ERNCEF L TWET, ( 51.N) ( 86.A) ( 137.0)
STV 13, BT FATBIX IS8 B8, BN L TOET, [ BTAXE ] 5 25428 A & 26263 A & 51691 A 18,055 75
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